CCNA Exploration Chapter 2 Static Routing. Study questions. 
3.1
Where would an exterior gateway protocol be used?

Between ISPs or between ISPs and major customers. They are used between network groups that are under different ownership and administration. That is, between different Autonomous Systems.
Name two exterior gateway protocols.

Border Gateway protocol (BGP)

Exterior Gateway Protocol (EGP) (no longer in use.)

Where would an interior gateway protocol be used?

Within a group of networks owned and administered by one organisation. That is, within Autonomous Systems.
Which distance vector routing protocols are studied in this course?
RIP, RIP version 2, EIGRP.

Which link state protocol is studied in this course?

OSPF.

Which routing protocols are Cisco proprietary?

IGRP, EIGRP.

What does a routing protocol do?
It allows routers to exchange information about routes, and lets each router then choose the best routes to remote networks and update its routing table. It adds new dynamic routes and removes routes that are no longer available.

What is a routing protocol’s algorithm?

The steps that the router has to take when calculating the best routes.

Where would static routing be preferable to dynamic routing?

In small networks with a simple topology, and for routes to and from stub networks. For default routes in many cases. Possibly where the administrator wants complete control of paths or where the sending of routing updates would compromise security. Possibly if routers do not have much processing power or where the use of bandwidth is an issue.
What does a distance vector routing protocol let a router know about remote networks?

The “distance”, that is the metric giving the number of hops or the calculated cost, and the “vector”, that is the exit interface leading to the network. It does not have any other knowledge of remote networks.

What does a link state routing protocol let a router know about remote networks?

The router builds up a complete picture of the topology of the networks where the protocol is operating. It knows all the routers and how they are linked.

What is the difference between a classful routing protocol and a classless routing protocol?

The classful routing protocol does not send information about subnet masks and therefore does not support VLSM. Classless routing protocols do send information about subnet masks and do support VLSM.

What does it mean when a network is converged?
All the routers have accurate and up-to-date information about the network, and their routing tables are consistent. (The routing tables will not be the same because routes from each router will be different.)

Why is it a problem if networks are slow to converge?

While the network is not yet converged, routing will be unreliable. Routers may send packets on the wrong paths because they are using out of date information.

Which routing protocols are fast to converge?
OSPF and EIGRP. (Link state protocols such as OSPF are typically fast to converge. Traditional distance vector routing protocols such as RIP and IGRP are slow to converge. Although EIGRP is distance vector, it has some features that are similar to link state, and this makes it fast to converge.)

What is a routing protocol’s metric?
It is the way the routing protocol measures characteristics of a route so that it can compare them and choose the best route.

What metric does RIP use?

RIP uses hop count as its only metric. (It can count up to 15 hop counts. Anything more than that is regarded as unreachable.)
What metric does EIGRP use?

Bandwidth and delay as default. (It can also use reliability and load if configured to do so.) It calculates a combined metric so that the highest bandwidth and the smallest delay give the best (lowest) metric.

What metric does OSPF use?

Cisco’s implementation of OSPF uses bandwidth to work out the metric, which is called “cost”. High bandwidth gives low cost.

How is the metric for a route shown in a routing table?
It is the second number in square brackets.

What is equal cost load balancing?

If a routing protocol finds more than one route to the same destination and they have the same metric, then it can put both routes in the routing table, and both routes will be used.

When might a router run more than one routing protocol?

When it is on the boundary between two areas running different routing protocols.

If a router is running two routing protocols and they find different routes to a destination, which route will be put in the routing table?

The route with the lower administrative distance.

What is the purpose of the administrative distance?

It shows the “trustworthiness” of a route: which source of routing information should be preferred.
If a router finds alternative routes using RIP and EIGRP, which route will be used and why?
The EIGRP route because EIGRP has a lower administrative distance than RIP.

Which command will show you all routes learned by RIP whether or not they are in the routing table?
show ip rip database
Which letter is used in a routing table to indicate a route learned using EIGRP?
D

What are the administrative distances for the following?
(The obsolete IGRP had administrative distance 100.)

	Directly connected route
	0

	Static route
	1

	EIGRP
	90

	OSPR
	110

	RIP
	120


An OSPF route has metric 87 and an EIGRP route to the same destination has metric 217421. Which route will be used?
The EIGRP route because EIGRP has a lower administrative distance. Metrics are not used to compare routes found from different sources.

Remember to do the subnetting activities – don’t leave them out. You ned lots of practice.
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